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Simple linear regression results:

“—Dependent Variable: HIGHEST YEAR SCHOOL
Independent Variable: FATHER HIGHEST YEAR SCHOOL

e awre0.74 i

Sarmnple size: 1485

(corelation coeficient = D.4B1m Toluee, pﬂ l{ﬁ[u

R-s0=023172005
Estimate of error standard deviation; 2.661603

HIGHESTrAR SCHOOL=9.805244 + 0.34786397 FATHER HIGHEST YEAR GCHO iy e YEARSGHOSL

Parameler estimates:
Parameter| Estimate | Std.Err. |AMernatve| DF | T-Stat |PVale| —— - - - . . - —
Intercept 0.80524410.20117672 = 0|1483) 4873046(=00001] —— I
Slope 0.34786397 | 0.01644614 # 0| 1483] 21.149136| <0.0001 | —— —
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Simple linear regression results:

Dependent Variable: Life Expectancy
Independent Variable: People who read (%)

Life Expectancy = 38.469986 + 0.37040222 Peaple who read (%)
Sample size: 107

R (correlation coefficient) = 0.8436

R-sg=0.7116605

Estimate of error standard deviation: 5.420809

Parameter estimates:

Parameter | Estimate | Std.Err. |Alernative| DF | T-Stat |P-Valu
Intercept 38.469986| 1.8770674 + 0]105]20.494728| <0.00(
Slope 0.37040222|0.02300883 + 0]105]16.098263| =0.00(

Analysis of variance table for regression model:
Source | DF 55 MS F-stat | P-value
Model

-

TE15.2866| 7615.2866 | 259.15408 | <0.0001
Error | 105|3085.4426|29.385168
Total | 106(10700.729
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